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O +S8H|2 4 10,340,000&
ANRES & =&H 200,000 12 4 = 2,400,000
SMSX #H 100,000 4 3 = 400,000
CAFLH(EIIE S 150,000 2 3 = 300,000
METRS2 33,000& 12 4 = 396,000
==D] 2eld 46,500 12 2 1o = 558,000&
C2SYE Y =X 10,000 10 & = 100,000
=00 M2 30,000 10 2 = 300,000&
SRR 242,000 12 & = 2,904,000&
nsite sd 50,000& 2 3 = 100,000&
o7l 100,000 4 3 = 400,000
0890 A28 12,000& 6 < = 72,0003
gt ==2 120,000 12 & = 1,440,000
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UHSIHEEE 1,500,000& 1 = 1,500,000&
S REA 600,000& 1 = 600,000&
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2 O Xtz 2,800,000
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CCTV &l 1,300,000& T o 1,300,000&
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2o 400,000 1O 400,000
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8 (TR 0 10,000 10,000 | - 10,000, 0008
s e 0 10,000 10,000 [ - O sas 10,000,0008
~ OB SHMEPET 10,000,000 10,000, 0002
a+9 0182 0 10 0| - 10, 0008
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= Breta 0 10 0| - O ue3 10,0008
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